K - v—e kR Hakxk—E&

- 5 Sezg |0 | I A pE A | e n
| faf El BOE | A | S| B | 85K %&% % || R | | R i 5
. ) 18.0 1 B .
7E/K |50 3 1,800 L | - |15.0 1 330 NoEfA | T |EB29) 6 | 2
N y 15. 0 4 TV s
7HE/K |50 2 1,800 #L | - |18.0 1 8.0 ogta | | T7TH 6 | 2
. ( 15.0] 10 LR \\
7EK |50 1 1,700 L | - 160.0| oA | | VH 6 | 2
. ) 15. 0 1 B
7HEAK 509 1,600 #L | - 15.00 \oga | M 1k 6 | 2
o y .03 TVIAS .
7HE/K |50 6 1,600 #L | - 45.00 \ogra | | T 6 | 2
14. 0 1 ‘ \
WA (510 1,500( AL | - 14.0|  Kif AlYTR | 6| 2
17.0 1 ‘ \
BEAK (511 1,500] #L | — |16.0 1 33.0 Ky Al AN ] 6 | 2
1.0 1 ‘ \
CiaLaRNE YA S2QY) 14,000 #L | - 1.0  Kifg Al | ATz | 6 | 1
1.0 1 ‘ \
N6 14,000 #L | - 1.0  Kifg Al | Azhkey | 6 | 2
15.0 1 \
FiE |1 36—0522 5,000{ %L | - 15.0|  KifF Al fEsk 6 | o A
12.0 1 ‘ \
M |136—0521 4,000 4L | - 12.0] K CI R ALY 6 | o 1
20. 0 1 ‘ \
M 136—0523 4,000| #L | - 20.0 K A 2AUEn | 6 | 2 7 h
10. 0 1 \
fri |1 36—0524 3,000 #L | - 10.0| KU S ] 6 | o o
10. 0 1 ‘ \
M |1136—0525 3,000 L | - 10.0| K Al ¥ | 6 | 2 71
] ] 20.0] 5 AL ‘
BH RS &R —5 | 55000 AL | - 100.0] "l Al oANZTE 6 | ]
] ] 20.0] 5 AL \
FH NS5 D SR 4,500 AL | - 100.0[ gy | ATETR |6 | L
20.0 4 ‘ \
= |6/2 3 2,000 L | - 80.0|  Kig I A7 6 | 2
20.0] 25 ‘ \
EH [7/3 2,000 AL | - 500.0|  Kig I A7 6 | 2
20.0] 5 ‘ \
W | 7/7 1,800| L | - 100.0| Ky AL A7) ) 6 | 2
\ 20.0] 11 ‘ \
S (S X7-T7 2 1TMEIK24 1,500 FL | - | 8.0 1| 228.0]  KifE CIN R VAEY 6 | 2
16. 0 1 ‘ o
JIRR AR 2 5,000 L | - 16.0|  KifF a7y | o6 |2 7 H
20.0 2 ‘ ‘ \
JIAR | AHEAL 6 5,000| AL | - 40.0|  Kifg Aol RS 6 | 2 | A Y7 - Frot)
25.0] 48 ‘ \
— HR|FEFRLA 1,200 %L | - 1,200.0( K Al Y7TXE | 6 | 2
25.0] 5 DB
R | 1 AR ALk 2,000 £L | 5 125.0] g ol IRE 6 | 1
25.0] 10 D - B
FEVL S| 3 AALA 1,250| #L | 3 250.00 arso ol EE | 6] 3
25.0] 10 DR
FEVLE| 2 RIEEVL AR 1,200 AL | 3 250.0| oLRAE | 6| 2
30.0[ 20 DB ‘
FEVE | 3 AR MALA 950| #L | 3 600.0| i "l RA 6 | 3
15.0] 2 DB
BEIRERLA 1 3 4 1,600 AL | 3 30.0| o Al 2 | 6| 2
N N 2.0] 2 B
ARl | 2 U T E 15,0000 HL | - | 1.0| 4 8.0 arm Wl E&E | 6|1




